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If kinetic energy is increased by a factor of 9, then speed is increased by a factor of
3) 3 (Ex o« v?) which triples the radius as r « v.
Hence the proton would follow a circular path in the same direction, but the radius
of the circular path would be three times as large.

The alpha particle has uniform circular motion and follows a circular path in the
magnetic field.
This is because there is a constant magnetic force perpendicular to the velocity of

the alpha particle.
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The electron has a much smaller radius than the alpha particle due to the lower
mass.

The electron moves in the opposite direction to the alpha particle due to the

opposite sign of electric charge.




